# John Tonkin College



# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 8th December 2023 Using "6MHP" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

#### PREPACKAGED DELIVERY SERVICE

#### HOME DELIVERY

Your order will be dispatched for \$8.00, no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 8th December 2023.

Orders placed after the 8th December will incur a late fee of \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



## Please tick the items required in the box provided $\downarrow$

Item Item

Qty

Unit

Total

Office Use	Description	No.	Reqd	Reqd	Price \$	Amount \$
	YEAR ELEVEN					
	PERSONAL ITEMS FOR STUDENT USE					
P54036	2024 Diary A5 Student Week To View Spiro Cumberland	1		1	3.44	3.44
P50466	Correction Tape 5mm x 8m Marbig	2		1	4.25	4.25
P58510	Eraser Plastic Pencil Large With Sleeve	3		3	0.34	1.02
P51353	Glue Stick 40gm Artline Purple	4		2	2.34	4.68
P51157	Highlighters Pkt 4 Micador ECO	5		1	2.98	2.98
P56095	Pen Ballpoint Cap Type Blue Medium	6		5	0.30	1.49
P56096	Pen Ballpoint Cap Type Red Medium	7		2	0.30	0.60
P50271	Pencil (HB) Goldfaber	8		5	0.55	2.76
P52178	Pencil Case A5 Bindermate Clear	9		1	3.95	3.95
P56252	Pencils-Coloured 12's Colourush	10		1	3.83	3.83
P50090	Ruler 300mm Wooden	11		1	0.94	0.94
P56240	Sharpener Pencil Barrel Single Hole (EL)	12		1	1.06	1.06
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	13		1	11.94	11.94
P56711	Whiteboard Marker Artline 550A 1.2mm Black	14		2	5.15	10.29
	Select RIGHT or LEFT Handed Scissors		Choose One			
P56446	Scissors 210mm Large General Purpose	15		1	3.27	3.27
P50551	-OR - Scissors 205/210mm School Left Handed	16		1	5.06	5.06
	CURTIN FOUNDATIONS OF COMMUNICATIONS CURTIN UNIREADY PROGRAM					
	CURTIN FUNDAMENTALS OF ACADEMIC WRITING CURTIN UNIREADY PROGRAM					
	DESIGN - PHOTOGRAPHY - GENERAL					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	17		3	11.94	35.83
P50870	Pen Pentel Hybrid Gel Metallic Silver	18		1	2.72	2.72
P55442	Display Book A4 20 Pocket Black Refillable	19		1	1.83	1.83
	No text required.		_			
	DESIGN - TECHNICAL GRAPHICS - GENERAL					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	20		1	11.39	11.39
	No text required.		_			
	DRAMA - GENERAL					
	No text required.					
P55442	Display Book A4 20 Pocket Black Refillable	21		1	1.83	1.83
	ENGLISH - GENERAL No text required.					
	FOOD SCIENCE & TECHNOLOGY - GENERAL					
	No tout required					

No text required.

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HEALTH STUDIES - GENERAL					
	No text required.					
	HUMAN BIOLOGY - ATAR					
P04036	WA ATAR Human Perspectives 1&2 (Print & Digital) 8E [Whan et al]	22		1	74.76	74.76
	MARINE & MARITIME STUDIES - GENERAL  JTC Rash Vest (Perm-A-Pleat, Schoolwear)  Wet suit shoes.  No text required.					
	MATERIALS DESIGN & TECHNOLOGY - WOOD - GENERAL.					
	Participation in Workshop classes is conditional to students wearing the Clear lens safety glasses with protective pouch. Capped "leather' safety boots that cover the ankle and comply with AS N25 22 Navy blue drill cotton Overalls or Navy Blue drill cotton long sleeve plain shirt v NO HIGH VIS REFLECTIVE STRIPES. Carry Bag. No text required.	10.01 -	2010.			
	MATHEMATICS APPLICATIONS - ATAR					
P32047	Cambridge WA Senior Maths Applications Yr 11 (Print&Digital) [Darshan Gendah et al]	23		1	72.21	72.21
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	24		1	281.95	281.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	25		4	1.40	5.61
	MATHEMATICS ESSENTIALS - GENERAL					
P32045	Cambridge WA Senior Maths Essential Yr 11 (Print&Dig) [Bruce Leggett et al] (due approx Feb)	26		1	72.21	72.21
P55278	Calculator Texas Scientific TI-30XB Multiview	27		1	37.95	37.95
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	28		4	1.40	5.61
	MATHEMATICS - FOUNDATION					
P55274	Calculator Sharp Scientific EL-531	29		1	32.25	32.25
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108 No text required.	30		4	1.40	5.61
	OUTDOOR EDUCATION - GENERAL					
	JTC Rash Vest (Perm-A-Pleat, Schoolwear) Wet suit (booties) Hat Raincoat Water Bottle. No text required.					
	PHYSICAL EDUCATION STUDIES - GENERAL					
	JTC PE Shirt/P.E Shorts (Perm-A-Pleat, Schoolwear) Hat Water bottle. No text required.					

#### **PSYCHOLOGY - GENERAL**

No text required.

#### **TOURISM - CERTIFICATE II**

No text required.

## Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS - GENERAL					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	31		1	11.39	11.39
P56130	Pen Felt Tip Fineliner Black	32		4	2.42	9.69
P55515	Eraser Artist Kneadable	33		1	2.17	2.17
	Jacksons West Art scholastic brush set (set of six). No text required.	55		·	2	2
	Number of Boxes ticked:					
	Postage (Home delivery	only)	\$8.00			
	ESTIMATED AMOUNT I (PRICES CORRECT AT 19/1	_	\$			